January 11, 2016
BIOE 3400 Biotransport

Homework #0 – 10 points
Due: January 15, 2016
1. See if you can perform a nonlinear regression of the data shown below. Use the Matlab Nonlinear regression example from the blog. 
	X
	Y

	.1
	.1

	.2
	.2

	.5
	.55

	.7
	.5

	.8
	.58

	1.0
	.6

	1.2
	.55

	1.3
	.43

	1.5
	.4

	1.8
	.3

	2.0
	.25

	2.1
	.22


The regression equation to fit these data is:
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 Find the values of a and b that minimizes the error between the given values of y and the F value given by the above equation.
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